

SHY CREATION INC  
 631 S Olive St #900  
 Los Angeles, CA 90014  
 Tel: 213-623-8900  
 Fax: 213-623-0860  
 www.shycreation.com  
 info@shycreation.com

## VENDOR JOB

Job #:	21987
Vendor #:	SC55
Job Date:	2/6/2026
Request Date:	2/6/2026

**Billing Address:**

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

# SHY CREATION INC.

**Shipping Address:**

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

Pic	PO #	Vendor Model No	Description	Qty	Gold Weight	Total Weight	Total Value
	SHY-1000082813	SN23258A	14K NECKLACE	25.00	0.45	11.28	\$ 1,141.33
	SHY-1000082813	SN23258A	14K NECKLACE	18.00	0.45	8.12	\$ 821.76
<b>TOTAL</b>				<b>43.00</b>		<b>19.40</b>	<b>\$ 1,963.09</b>

x Veronica Schauer-West  
 Authorized Signature

SHY CREATION INC  
 631 S Olive St #900  
 Los Angeles, CA 90014  
 Tel: 213-623-8900  
 Fax: 213-623-0860  
 www.shycreation.com  
 info@shycreation.com

## VENDOR JOB

Job #:	22001
Vendor #:	SC55
Job Date:	2/6/2026
Request Date:	2/6/2026

### Billing Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

# SHY CREATION INC.

### Shipping Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

Pic	PO #	Vendor Model No	Description	Qty	Gold Weight	Total Weight	Total Value
	SHY-1000082813	SN57468U104	14K NECKLACE	15.00	7.99	119.87	\$ 12,129.54
	SHY-1000082813	SR25094U104	14K RING	15.00	2.50	37.51	\$ 3,795.22
	SHY-1000082813	SR22997U104	14K RING	12.00	2.04	24.48	\$ 2,477.52
	SHY-1000082813	SR31288U104	14K RING	9.00	2.83	25.47	\$ 2,577.72
	SHY-1000082813	SE52065U104	14K EARRING	8.00	3.10	24.80	\$ 2,509.91
	SHY-1000082813	SN45895U104	14K NECKLACE	5.00	8.12	40.61	\$ 4,108.96
	SHY-1000082813	SN32253U104	14K NECKLACE	5.00	3.89	19.45	\$ 1,968.46
	SHY-1000082813	SN52944U104	14K NECKLACE	5.00	3.77	18.85	\$ 1,907.73
	SHY-1000082813	SE49693U104	14K EARRING	4.00	1.90	7.60	\$ 769.17
	SHY-1000082813	SE48155D10	14K EARRING	4.00	1.84	7.36	\$ 744.88

	SHY-1000082813	SE41033U104	14K EARRING	3.00	2.51	7.53	\$ 762.08
	SHY-1000082813	SN51586U104	14K NECKLACE	3.00	2.88	8.64	\$ 874.42
	SHY-1000082813	SE48476U104	14K EARRING	3.00	2.44	7.32	\$ 740.83
	SHY-1000082813	SR43128U104	14K RING	3.00	2.83	8.49	\$ 859.24
	SHY-1000082813	SB24947	14K BRACELET	3.00	11.77	35.32	\$ 3,573.58
	SHY-1000082813	SR60002RD104	14K RING	2.00	7.11	14.22	\$ 1,439.15
	SHY-1000082813	SN59770U104	14K NECKLACE	2.00	2.77	5.54	\$ 560.68
	SHY-1000082813	SN53101RD104	14K NECKLACE	1.00	3.03	3.03	\$ 306.65
	SHY-1000082813	SN54304U104	14K NECKLACE	2.00	3.16	6.32	\$ 639.62
	SHY-1000082813	SE53356RD104	14K EARRING	2.00	3.05	6.10	\$ 617.36
	SHY-1000082813	SN55626U104	14K NECKLACE	2.00	1.94	3.88	\$ 392.68
	SHY-1000082813	SG26702MU104	14K BANGLE	2.00	11.79	23.58	\$ 2,386.44
	SHY-1000082813	SG26702MU104	14K BANGLE	2.00	11.79	23.58	\$ 2,386.44

	SHY-1000082813	SR43439U104	14K RING	2.00	7.38	14.76	\$ 1,493.80
	SHY-1000082813	SE40633U104	14K EARRING	2.00	1.60	3.20	\$ 323.86
	SHY-1000082813	SE48155D10	14K EARRING	2.00	1.84	3.68	\$ 372.44
	SHY-1000082813	SR24280U104	14K RING	2.00	2.69	5.38	\$ 544.49
<b>TOTAL</b>				<b>120.00</b>		<b>506.60</b>	<b>\$ 51,262.85</b>

x Veronica Schauer-West  
Authorized Signature